Ordinary and Partial Differential Equations and Applications
Dr. D.N. Pandey
Department of Mathematics
Indian Institute of Technology — Roorkee

Lecture - 04
Existence and Uniqueness of Solutions of Differential Equations - 11
Hello friends. Welcome to this lecture. In this lecture, we will continue our discussion of
existence and uniqueness theorem for nonlinear problems. So here we have to discuss this.
Before we do anything with this successive approximation we must show that they are
defined properly. This means that in order to define yj on some interval I, we must first know

that the point s, yj s remains in the rectangle R for every s in L.

So we have already defined the successive approximation and we also discussed the Lipschitz
condition of the nonlinear function f and with the help of this lemma we want to show that
whatever approximation we have constructed they belongs to the rectangle R.
(Refer Slide Time: 01:17)
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Before we do anything with these successive approximations, we must, show that
they are defined properly. This means that in order to define y; on some interval /,
we must first know that the point (s, y;(s)) remains in the rectangle R for every sin

| '

Lemma 4

Choose any two positive numbers a and b, and let
R:={(ty)eR2:ty<t<t+ay-yo < b} be the rectangle. Compute
M = maxyez |f(t,y)| and set h = min{a, 53 }. Then

Iynlt) = yol < M|t -ty for y <t <ty +h (13)

Above lemma states that the graph of y,() is sandwiched between the lines
y=yo-Mt-tandy =y + M(t=ty) for ty < t <y + h. These lines leave the
rectangle Ratf = ty+a,ifa< §,andatty+ Jif § < a

Therefore, the graph of y,(t) is constrained in Rfor fy < t <ty + h.
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So before we do anything with this successive approximation we have already constructed
the successive approximation and we have also considered the definition of Lipschitz
condition. We must show that they are defined properly, so it means that we have to first
show that the iteration which we have constructed they are defined properly and this means
that in order to define yj on some interval I we must first know that the point s, yj s remains

in the rectangle R for every s in L.



So first we have to show that all the iteration belong to the same rectangle for all the time t in
that particular interval I. So that we want to see, so for that we have a lemma 4. So choose
any 2 positive numbers a and b and let R is defined this, R is the set of all t, y belonging to
R2 such that t is lying between t0 to t0+a and modulus of y-y0 is<=b be the rectangle and we

can compute the maximum of modulus of f't, y in this rectangle R.

And we can set h as minimum of a and b/M then modulus of yn t-y0 is<=M t-t0 for all t
belonging to t0 to t0+h where h is minimum of a and b/M. So what we mean by this lemma 4,
it means that this lemma state that the graph of yn t is sandwiched between the lines y=y0-M
t-t0. You can say open this if you look at this it is what yn t-y0 is<=M t-t0. If you open this,
you can say that yn t is lying between y0-M t-t0 and yO+M t-t0 that we can easily see like
this.
(Refer Slide Time: 03:24)
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Here modulus of yn t-y0 is<=M t-t0 okay. So we can write it yn t-y0<=M t-t0<=-M t-t0 and
you can put y0 here so yn t is lying between M t-t0+y0 and here it is y0-M t-t0. So we can
say that this yn t is lying between this line and this line. That is what we wanted to show it
here that the graph of yn t is sandwiched between the lines y0-M t-t0 and the line y=y0+M t-
t0.

And here this is true for all t between t0 to t0+h and these lines leave the rectangle R at
t=t0+a if a is<b/M and t0+b/M if b/M is<a. By showing this if you look at here we already
know that t-t0 is<h right. So it means that we can say that yn t-y0 is<=Mh right and h is what



we have defined is minimum of a and b/M right. So it means that we can say that if a is

minimum we can say that it is Ma and this is nothing but M b/M that is<=b.

So it means that modulus of yn t-y0 is<=b it means that your yn t remains in the rectangle but
if minimum of a and b/M is b/M we can simply say that yn t-y0 is<=M, you can say that h is
b/M so it is<=b. So it means that for this h your yn will always remain in the rectangle R that
is what we wanted to show here. So it means that therefore the graph of yn t is constrained in
R for t between t0 to tO+h, here h is minimum of a and b/M.

(Refer Slide Time: 05:50)
e

Proof of the lemma.

We establish (13) by induction on n. Observe that (13) is obviously true if n =0
since yo(t) = yo.

Next, we must show that (13) is frue for n= j+ 1, it it is true for n = j that is

1i(t) = Yol < M(t - ). f r

Now, [yj41() ~ yo| = | [ fs.y(8))es] < Jf (. (s))10s < M(t~ ) fr
b<t<th+h e N )

Hence, by induction, (13]lis true for all n. 0
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So this proof we can do by induction on n. So observe that this is true for n=0, in fact for n=0

yO0 t is nothing but y0 so this is trivially true. So this is obviously true for n=0 because y0
t=y0. Next, we must show that this condition is true for j+1 if it is true for j. So that we want
to show that if we assume yj t-y0 is<=M t-t0 then we want to show that modulus of yj+1t-y0
is also<=M t-t0.

So for that let us calculate this quantity modulus of yj+1t-y0=t0 to t f of s yj s ds. Now here
we already know that this yj s belongs to the rectangle. So it means that this s yj s belongs to
the rectangle and we already know that in this rectangle your f is bounded by M, so we can
say that this thing is bounded by this and here we already know that this is bounded by M so

we can say that M integration from t0 to t ds so which is given as M t-t0.

So it means that modulus of yj+1t-y0 is<=M t-t0 for all t lying between t0 to t0+h and hence

we can say that by induction this is true for all M. So it means that this successive



approximation will remain in the rectangle which we have defined like this. So it means that
all the constructed sequence will be in this rectangle R for all time t between t0 to t0+h and in

this rectangle your modulus of f't, y is bounded by this M.

So we have shown that with the previous lemma that all the successive approximation satisfy
this inequality 13. So it means that all yn t belongs to this rectangle R.
(Refer Slide Time: 08:17)
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Convergence of y,(f) : We show that the Picard iterates y,(!) of (1) converges for
each tinthe interval iy <t <+ h, it 5 ”’ exists and is continuous.

Qur first step is to reduce the problem 01 showing that the sequence of functions
¥alt) converges to much simpler problem of proving that an infinite series
converges.

This is done by writing y,(t) in the form

Yalt) = yo(t) + () = Yo(O 4 -+ [yal) = yas (8] (14)

Clearly, the sequence yy(t) converges iff the infinite series 32, |ya(f) — ¥a-1(1)]
converges. To prove the convergence of (13), it suffices to show that

Z yalt) = a1 (18)

' 1T ROQAKEE € T TR CCUN

Now we consider the question which is very important question that convergence of yn t. So

we show that the Picard iteration yn t of 1 converges for each time t in the interval t0 to t0+h
if dou f/dou y exist and is continuous. We may replace this condition dou f/dou y exist and is
continuous by the Lipschitz condition also. So our first step is to reduce the problem of
showing the sequence of function yn t converges to much simpler problem approving that an

infinite series converges.

So this we can do by showing the equivalence between yn t and an infinite series. So here if
you look at we can write yn t as y0 t+yl t-y0 t+1 yn t-yn-2. So we can write yn t as the
following sum. So here we can say that clearly the sequence yn t converges if and only if the
infinite series n from 1 to infinity modulus of yn t-yn-1 t converges. In fact, if you look at this

means what that limit n tending to infinity yn t is going to be what limit.

So y0 t+summation n=1 to infinity yn t-yn-1t. So it means that limit exist provided this series

is convergent series. So to prove the convergence of this yn t it suffices to show that



summation n=1 to infinity modulus of yn t-yn-1 t is<infinity. So we need to show the
convergence of this infinite series.

(Refer Slide Time: 10:05)

This is done in the following manner:
1
al(t) = ya-1(1)] =l [f(S- Ya-1(8)) = 1(s. yn-2(s))]ds
\f (8. ¥a-1(8)) = f(s. yn-2(s))|ds —

.Ilyn_ (5) ~ Yn-2(8)|ds

where £(s) lies in between y, 2( s) and y,_1(s). From the above lemma, it follows

immediately that the points (s,¢(s)) lies in the reclangle Rfors < ty+h.
rschrh

Consequently,

of
)~ o015 [ 1r4(5) el whereto <1< (1
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So this is done in the following manner. So modulus of yn t-yn-1 t, let us calculate this

quantity and it is coming out to be t0 to t f of s yn-1 s-fs, yn-2 s ds and this is further<t0 to t
modulus of fs yn-1 s-fs yn-2 ds ds. Now here we can apply either the Lipschitz condition or
the mean value theorem such that this is going to be <= modulus of dou f/dou y at some point

s is Is*modulus of yn-1 s-yn-2 s.

So here at this point either you use mean value theorem or you use the Lipschitz condition
and we can show that here if we are using this mean value theorem we can say that this xi s
lies between yn-2 s and yn-1 s and from the above lemma which we have just proved it
follows immediately that this point lies in the rectangle R for this. So it means that if this

point lies in this rectangle R it means that this is bounded by the constant K here right.

If you use the Lipschitz condition, then this is bounded by the Lipschitz constant K here. So
if you are using the Lipschitz condition from here we can directly move to this. If we are
using the bounded-ness of partial derivative here then we use this condition that s, xi s lies in
this rectangle and in this rectangle this is bounded by K. So here from this we can say that

modulus of yn t-yn-t is<=K times t0 to t modulus of yn-1 s-yn-2 s ds.



So what we do we are able to get a recursive relation in terms of yn t-yn-t and here t is lying
between t0 to t0+h. Now here K right now we are assuming the maximum of this quantity
over the rectangle R.

(Refer Slide Time: 12:21)
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So here we have defined K. If we are using the Lipschitz condition, then we can say that K is

a Lipschitz constant. So here for if you look at the recursive relation this yn t-yn-1 t<=K t0 to
t yn-1 s-yn-2 s for say n=2. So let us define it for n=2 so it is y2 t-y1l tis<=K t0 to t y1 s-y0 s
ds and if we already know that when we consider approximation y1 t=y0 t+t0 to t f of s yO s

ds and we already know that y1 t-y0 is bounded by t0 to t modulus of f of s y0 of s ds.

And we already know that this is bounded by M and this is what t-t0. So we already know
that this y1 s-y0 s is bounded by this quantity. So we can say that this is bounded by KM t0 to
t s-t0 here y1 t-y0 we are saying that it is bounded by this quantity, so y1 s-y0 s is bounded by
s-t0 and if you simplify this integration then it is coming out to be KM t-t0 square/2.

(Refer Slide Time: 14:04)
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This, in turn, implies that
t
() - ya(t)] < K/r Ya(8) - yi(8)|ds
My ————
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Similarly, by induction, we see that
MK™ 1t - )"
it -0 < g <ten 19

This we have shown for n=2, now we can also say that y3 t-y2 t is<=K times t0 to t y2 s-y1 s
ds and just now we have calculated the bound for this y2 s-yl s that is this we have just
calculated that it is bounded by KM t-t0 square/2. So using this bound we can write it MK
square t0 to t is —t0 square/2 ds and when you calculate this it is coming out to be MK square

t-t0 to power 3/factorial 3.

And if we proceed like this and by induction we can show that modulus of yn t-yn-1 t
1s<=MK to power n-1 t-t0 to power n/factorial n. Here t is lying between t0 to tO-+h.

(Refer Slide Time: 14:57)
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Therefore, for fy < t < ;4 h; we have
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So we can show that this series which we are considering that modulus of y1 t-y0 t+y2 t-y1 t

and so on is<=y1 t-y0 t is bounded by M t-t0 and y2 t-y1 t is bounded by this quantity and so

on we can say that yn t-y1-1 t is bounded by this and if you take the summation here since t is



lying between t0 to t0+h so t-t0 is bounded by h so we can say that this is further bounded by
Mh+MK h square/factorial 2+MK square h cube/factorial 3 and so on.

And here if you look at this is kind of known series and we can make that form by
multiplying by K and divided by K. So we can say that M/K then it is written as Kh+Kh
whole square/factorial 2 and so on and if you look at this is an exponential series and this is
written as M/K e to power Kh-1. So we can say that this series is finite series, so we can say

that this series is bounded by some finite quantity and we can say that it is < infinity.

So what we can see that yn t converges for all t belonging to t0 to t0+h. So we have shown
that this series is finite. So it means that yn t is basically what yn t is yO+summation n=1 to
infinity yn t-yn-1 t and we have shown that this part is finite so adding this yO keep this
quantity finite so we can say that yn t converges for all t belonging to t0 to t0+h and since it is
convergent we say that limit is y t. So y t is given as the limit of this infinite series.
(Refer Slide Time: 17:10)
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We will show that y(I) satisfies the initial value problem:
ot
¥y =y + / f(s.y(s))ds and y(t) is continuous. (19)
Ity

Recall that ’
Vo) = o + / f(5.yn(s)ds (20)
fy

Taking limits on both sides of (20), we have

Y=+ m /r *f(s,yls))ds 21

To show that the right hand side of (21) is equal to yy + L; f(s,y(s))ds, we must
show that . —

. ot
\/ (5. y(s))ds / f(s. yn(8))ds| = 0 as n— x.
. i E—
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So now we want to show that y t satisfies the initial value problem. So what we have done,
we have done first 2 steps. First step is the definition of successive approximation we have
done in previous lecture and then we have to show that this approximation converges to some
limit. So that we have just shown that the sequence yn t converges to some limit call it y t and

now we want to show that this limit satisfy the initial value problem.

So it means that it satisfies the equation y t=y0+t0 to t f's, y s ds and also want to show that

this y t is continuous right. So by showing that y t is a solution of integral equation and we



can show that it means that y t satisfy the initial value problem as well. So to show this let us
recall the equation yn+1 t=y0+t0 to t fs yn s ds. Now if you apply the limit here then limit

will be what since limit of yn+1 t is yt so we can say y0 is independent of n.

So we can say that if we take the limit it is given as y t=y0-+limit n tending to infinity t0 to t f
s, yn s ds and to show that this right hand limit is going to be equal to this quantity we must
show the following thing that modulus of t0 to t f's, ys ds-t0 to t f's, yn s ds is tending to 0 as
n tending to infinity. So it means that we have to show that this is nothing but this quantity
right. So this we want to show here.

(Refer Slide Time: 18:54)
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To prove this, we first observe that y(t) lies in A, since it is the limit of y,(t) whose
graphs lies in A. ]_\ (k)| £ Mlt-30)
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|./1 f(5,y(5))0s [ f(5.ya(s))ds] < / f(5.(5))05 - 5. ()|

<K /! (5) - yo(s)| s

Since

V y(s) = yo+Z[y Y

I=

V als) —yo+2[y;(5)—y; 1(s)]
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So how we can show, again we can prove this by observing that first of all that this y t lies in

the rectangle R since every yn t is lying in this rectangle R it means that here we know that yn
t-y0 is<=M t-t0 and if you take the limit n tending to infinity we can say that this implies that
y t-y0 will also satisfy the condition t-t0. So y t will also belong to the rectangle R. So now
look at this quantity modulus of t0 to t f's, ys ds-t0 to t f's, yn s ds.

So it is further < t0 to t modulus of this quantity and here we can apply either the Lipschitz
condition or say boundedness of partial derivative of f. We can say that this is<=K times t0 to
t ys-yn s ds. Now since here we have assumed that y lies in rectangle R so it means that to
find out bound of this we have to look at the quantity of this. So here what is ys, ys is y0-+j=1
to infinity yj s-yj-1s and yn s is defined and y0+j from 1 to n yj s-yj-s. So using these 2
expressions, we can find out ys-yn s as follows.

(Refer Slide Time: 20:33)



So, we have
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So modulus of ys-yn s is given as j from n+1 to infinity yj s-yj-1 s. Now we want to show

that this quantity can be made arbitrary small as n tending to infinity. So we can see that
modulus of ys—yn s<=M j from n+1 to infinity Kj-1 s-t0 to power j/factorial j. Here for this
particular step we are using the bond of yj s-yj-1 s so here we are showing that this is

further<=j from n+1 to infinity modulus of yj s-yj-1 s this thing.

And we already know the bound of this. The bound of this is K to power j-1 s-t0 to power
j/factorial j here. Now again we can simplify this. This s-t0 is bounded by h so we can write
this as M j from n+1 to infinity K to power j-1 s to power j/factorial j. Again we can multiply
by K and divide by K and we can write M/K j from n+1 to infinity Kh to power j/factorial j.
If you look at this is the tail of the series e to power Kh-1.

So this is the tail of the series of e to power Kh-1 and we know that since this series is
convergent it means that as n tending to infinity this tail is tending to 0. So it means that as n
tending to infinity modulus of ys-yn s is also tending to 0.

(Refer Slide Time: 22:24)
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And this implies that this is also tending to 0. In fact, we can write this as modulus of t0 to t f

s, ys ds-t0 to t f's, yn s ds which is bounded by this quantity M j from n+1 to infinity Kh to
power j/factorial j tO to t ds and we can write it like this and we know that this is tending to 0
as n tending to infinity and hence we can say that limit n tending to infinity tO to t f's, yn s

ds=t0totfs, ysds.

And we can say that this implies that y t satisfy the integral equation 19. So we have shown
that y t satisfy the integral equation.
(Refer Slide Time: 23:09)
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y(t) is continuous:
By the Weierstrass M-test, the series E [y 1(t) = y;(t)] uniformly converges on
=0

the interval [fo. & + f]. In view of the definition of the [y;.¢(f) - yi(f)], this implies
Ihe absolute (and uniform) convergence on [ro by + h] of the ser\es
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Since y(f) = yol(t) + Z [Vm1(1) = ym(1)), this also proves the convergence of the
m=0

sequence {yj{ )} for every tin the interval [fy, ) + h] to some function of ¢, which
we call as y(t). Since each y, is a continuous f funchon and convergence to y is
uniform, therefore the limit function y(t)is aconnnuousfunc tion.
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Now we want to show that y t is continuous function. So this we can achieve by Weierstrass

M-test, in fact while proving the convergence part we have observed that the series j from 0

to infinity yj+1 t-yj t is uniformly convergent series in the interval t0 to t0+h. So how we can



say that if you look at the convergence part in view of the definition of this yj+1 t-yj t this

implies the absolute convergence on t0 to t0+h of the following series.

We can remember this is what modulus of yj+1 t-yj t is bounded by if you look at this is
bounded by the following thing K j-1 s-t0 to power j/factorial j here. So this is bounded by
this K to power j, h to power j-1/factorial j-1. Is it okay? I think it is here. So here it is j here
and here it is j here so we can say that this is bounded by K j+1 s to power j/factorial j. Now
we can apply Weierstrass M-test and we can say that we can call this as M j and we can say

that summation of M j is converging.

So this series is convergence so we can say that by Weierstrass M-test this is convergent and
this convergence is uniform convergence. So we can say since yj t=y0 t+m from O to j-1
ym+1 t-ym t, this also prove the convergence of the sequence yj t for every t in the interval t0
to t0+h to some function of t which we call as y t. Now we know that each y n is a continuous

function and convergence to y is uniform.

So we can say that limit function is also a continuous function right. So we need to observe
only this thing that the convergence which we have discussed is a uniform convergence and
each yn t is basically if you look at yj t is basically what it is sum of this thing and each
component is a continuous function so we can say that it will converge to a continuous
function, so we can say that y t is a continuous function.

(Refer Slide Time: 25:56)
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In summary, we have proved the following theorem:

Let f and 5 be continuous in the rectangle R := {(t,y): ty < t <o+ a,|y - yo| < b}
Compute M = min{a, n%}- Then, the initial value problem

¥ =1(t9),y(k) = yo

has atleast one solution y(t) on the interval fy < t < lo + h. A similar result is true
fort < ty. Moreover, IVP has a unique solution.
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So if we summarize the discussion which we have done today we can say that we have
proved the following theorem that let f and dou f/dou y be continuous in the rectangle R
where R is defined as the set t and y defined as that t is lying between t0 to t0+h modulus of
y-y0 is<=b and we can compute the bound M which is minimum of a and b/M. Then the
initial value problem y dash-f't, y, y tO=y0 has at least one solution y t on the interval this t0
to t0+h.

So this theorem guarantees that there exist at least one solution and we can also use the
similar argument to show that the solution exist for some interval t<=t0 in a same way and
now we want to show that not only it has a one solution but it has a unique solution. So we
have assumed that dou f/dou y be continuous in this rectangle that condition is sufficient to
show that the solution is unique as well.

(Refer Slide Time: 27:08)
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Uniqueness of the solution: Earlier theorem guarantees the existence of atleast
one solution y(f) of y' = f(t, ), y(to) = o- Let () be another solution of the

above differential equation, then

t

0 \
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V) =y + ] (5.205)0s fa

Ly

ot

y(t) - 2(t) < K / y(s) - 2(5)/ds (23)

Jy

To show the uniqueness part let us consider the following thing. So in this we want to prove
that solution is unique. So earlier theorem guarantees that existence of at least one solution,
so it means that we have one solution of this. Now to show that it has a unique solution let us
assume that we have one more solution call that as z t. So let z t be another solution of the

above differential equation.

So it means that y t is a solution means this equation is true, z t is the solution means this
equation is also true. Now with the help of this we can consider modulus of y t-z t and it is
coming out to be if you look at modulus of y t-z t is<=modulus of tO tot fof s y of s-t0 to t f

of s z of s ds. Now here either we can use the existence of dou f/dou y or say Lipschitz



condition on f we can show that modulus of y t-z t is<=K times t0 to t modulus of y s-z s ds.

So here we can say that in fact this is inequality.

So we can say that modulus of y t-z t is<=modulus of t0 to t f s y s-f s z s ds. Now here we
can apply the Lipschitz condition or the bound of the partial derivative of f. So here we can
say that modulus of y t-z t<=K times t0 to t y s-z s ds. Now we want to show from this

inequality that y t is identically = z t. So this we can show by saying that y t-z t is identically

=0thatisyt=zt.
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So we want to show that this y t-z t is basically 0. So we want to prove that let w t is

nonnegative and for every t with w t satisfy the following inequality that w t is<=K times t0
to t w s ds. Then we want to show that w t is=0. So here if you simply want to prove like this
then we can simply differentiate this like w dash t is<K w t and this we can write it w dash t-

K w t<=0 and this I can write it d/dt of e to power-K t w t<=0.

And if you integrate from t0 to t we can write it e to power —K t-t0 w t<=w t0 and we already
know that this w t0 is 0 because here we have just calculated here w t0 is 0 so we can write it
this as w t is<=0 or you can if you do not want to do it like this then we can simply say that
since du/dt of e to power —-K t w t is<=0 and this if we integrate we can simply write from 0

to t we can simply write this as the following.

We can simply say that e to power —Kt w t<=e to power -K0 w of 0 and we can simply say

that this implies that w t is<=this is w0 e to power —Kt and we can say that w0 is 0, this we



can show it here w0 1s<0 so we can say that w t is<=0 and we are done right but the problem
is that I cannot use this okay why because I cannot differentiate this directly right. So to avoid

this direct differentiation what we do let us assume this right hand side a new function U t.

So let U tis from t0 to t w s ds then we can differentiate this and we can find out du/dt as w t
right and w t we already know that it is bounded by K times t0 to t w s ds so it is<=K times t0
to t w s ds and by the definition of U t I can say that this is nothing but KU t. So du/dt is<=K
times U t and this implies that e to power —Kt-t0 U t is<=U t0 and we already know that U t0

is what U t0 is given as 0 because if we put t=t0 then it is nothing but 0.

So it means that e to power —Kt-t0 U t is<=0 now this is nearby 0 value so it means that U t
has to be bounded above by 0 and we already know that U t is positive so it means that U t
1s=0 so it means that what we have proved here that U t is 0 and now this is possible only
when w t is 0. So it means that what we have proved that if w t is nonnegative function along

with this inequality then we can show that w t is=0 only.

So how we are going to utilize this lemma in our result, here we have shown this that
modulus of y t-z t is<=K times t0 to t modulus of y s-z s ds. So here you can assume w
t=modulus of y t-z t. So if we assume this then it is written as w t is<=K times t0 to t w s ds
and just now we have proved this lemma that this implies that your w s has to be 0 so it

means that 0<=w t.

Now w t is<=K times t0 to t w s ds which is nothing but K times U t and U t is coming out to
be 0 so it means that 0<=w t<=0 so this implies that w t=0. Now what is w t here, w t is
defined as modulus of y t-z t. So it means that y t=z t so what we have proved we have

proved the uniqueness of the solution.

So in this lecture what we have shown here that first we have shown that this y dash t=f't, y t
with condition y t0=y0. This is equivalent to the integral equation y t=y0+t0 to t f of s y of s
ds and then we have constructed the approximate solution of this integral equation and we
have shown that the sequence of approximation converges to a limit y t. We have shown that
y t is continuous and we have shown that such a y t it means that y t is a solution and we have

shown that a solution which satisfies the integral equation is going to be unique solution.



So what we have shown that if f is continuous and satisfy the Lipschitz condition in a
rectangle R then initial value problem has a solution. So that is what we have stated as
theorem 5 that let f and dou f/dou y be continuous in the rectangle R where R is defined as t

from t0 to t0+h modulus of y-y0 is<b and we can compute M as minimum of a and b/M.

Then the initial value problem y dash=ft, y y t0=y0 has at least one solution y t on the
interval t0 to tO+h and we have shown that it has a unique solution. So that is the content of
this lecture. We will continue in next lecture this theory okay. Thank you for listening us.

Thank you.



